L
A-Anglr  SNCE3)

2023/ 09/ 25 (oBR)
@ Bucliol n g V533

o BEa LT IRA,

Def a, belN <

E=bkhace® REIN s
B Ic=
baoon 1% a3,
- - e bafntirey & alb e
T D_l2<{— . SH‘ ) S\\\KP ~ 51 40§y

TR
Def Q€N 6 b c el & trcBtoits
oz brc o [B&5%S oS

3, becq RS HFINHS KA EAZ

(~ N
%T\U\%—j% '), 1):% ﬁ@éﬁ%}i
= 7o ’\\Z 3"?01'@:‘(’ '
Ex (8 v 24 ¢ "&9 %L 1a {,2,3, .6

Colminon

Avisi s
pbeN o Bresr¥g e qed (b)) vE

SN
Ab e\ t S Shlsea ng(alb) z fordcear=}
—‘i@_’/‘h %—"\%\'_TLL ~ Euclid n 3(5;*:}5% ,

B4 gqad (a,54) =%
S4=21-2+[2 & 54 -_22(=12 -~
2l =R -1 +9 < 2l —~(-12=9 - 2
(2 = 9 - | +@Q\N%Cd‘(—_—3 L — [-q=13 -— )
q =

SS +Q@~ﬂ{_\—‘_\k\o



L | N

Gk,@ Ab (Q>‘€\‘l

J

r: asbaiy

L

=S
—

Q25




(£
_pt.
B g:gco?b_t;@ ! ‘g}lZl s 3(54
= (&) gl = @& gl = B8 gl3
= F=3.
— B (3) = () = (1) £ MR 23 2\ e shnReIE)
N> Y G+L.
o gcd QlLsey = 3

PJ—P. o, b €N e = ocd Qb)) £33
TAETAXA Py = q éa%a.g% HRET LYy
BHaEIR .
P£ E\AC.\\ld NS \)’33’3&_\ & éb Tehy o5 3 A

. 21X+ 54y =23 A TRERE A £

M & 3=12-19
3 =12-1=-1R2) =22 ~(-2
2> R

3 = 2-(5F2:2 )= (2l= 2-5¢ ()2
[0 N~ ——
S )= (5,2) @

Ex. god((09,35) TS 3 PRL LAer I5y={ 0

RS S-S

34y 35 )09

ﬁ\ 2 32 oY

19 25 . dTy 3«
D=1 ™

@cd ) S gea 2



